Integration (Reverse Slope)

Step 1: Calculate displacement between each major

point on the graph (including any point of zero ve- Velocity vs. Time
locity). The displacement can be easily calculate by Ax =4(3) Ax = (%£)2(3)
finding the area under the curve of each portion of 5 =12m =3m
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Hint: You can’t know starting Totals: L / X /
positions, just displacements. To 6+12+3=21 s 0 / A 4
be sure not to go off the position —-3-24=-27 § \ P
graph, find the Ax.y,. Then we Total = -6 m g - \ /‘ \ Ax=-8(3) —
know that our object goes +21 m -2 T / =—24m —
up and ends 6 m below the initial 3 — Ax=("%)4(3) M ®
position on the graph. 44— =6m
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Step 2: Draw dots to show the major points calcu- 21 °®
lated from the previous graph. The graph will go l l
thru these points. Also, you can choose any start- 18
ing position. You can 15
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totals. Is your top point at the maximum displace- 3
ment? Is the difference between your first and last : 6 @
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Step 3: Draw the shape of the motion being sure 9
to go thru each point. You must know the basic 0 2 4 6 8_ 10 12 14 16 18 20
shapes. (see below). Time (sec)
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